
CG460−2A_1

Wellenlänge λ /nm
400 500 600 700

D65

0,0

   

1,0

   

2,0

HPE_CIEF10_X-Zapfen-Empfindlichkeit  y−max(λ)=1
m−F10_X,1(λ)=B21x

−
F10_X,1(λ)+B22y

−
F10_X,1(λ)

+B23z
−

F10_X,1(λ)
B2j −0,4299 1,2038 0,0862λ=540

D65:Σm−F10_X,1(λ)=19,48
xF10_X,1=0,3133
yF10_X,1=0,3305



CG460−2A_1

Wellenlänge λ /nm
400 500 600 700

D50

0,0

   

1,0

   

2,0

HPE_CIEF10_X-Zapfen-Empfindlichkeit  y−max(λ)=1
m−F10_X,1(λ)=B21x

−
F10_X,1(λ)+B22y

−
F10_X,1(λ)

+B23z
−

F10_X,1(λ)
B2j −0,4299 1,2038 0,0862λ=540

D50:Σm−F10_X,1(λ)=18,78
xF10_X,1=0,3483
yF10_X,1=0,3607



CG460−2A_1

Wellenlänge λ /nm
400 500 600 700

P40

0,0

   

1,0

   

2,0

HPE_CIEF10_X-Zapfen-Empfindlichkeit  y−max(λ)=1
m−F10_X,1(λ)=B21x

−
F10_X,1(λ)+B22y

−
F10_X,1(λ)

+B23z
−

F10_X,1(λ)
B2j −0,4299 1,2038 0,0862λ=540

P40:Σm−F10_X,1(λ)=18,47
xF10_X,1=0,3831
yF10_X,1=0,3775



CG460−2A_1

Wellenlänge λ /nm
400 500 600 700

A00

0,0

   

1,0

   

2,0

HPE_CIEF10_X-Zapfen-Empfindlichkeit  y−max(λ)=1
m−F10_X,1(λ)=B21x

−
F10_X,1(λ)+B22y

−
F10_X,1(λ)

+B23z
−

F10_X,1(λ)
B2j −0,4299 1,2038 0,0862λ=540

A00:Σm−F10_X,1(λ)=17,84
xF10_X,1=0,4526
yF10_X,1=0,4086



CG460−2A_1

Wellenlänge λ /nm
400 500 600 700

E00

0,0

   

1,0

   

2,0

HPE_CIEF10_X-Zapfen-Empfindlichkeit  y−max(λ)=1
m−F10_X,1(λ)=B21x

−
F10_X,1(λ)+B22y

−
F10_X,1(λ)

+B23z
−

F10_X,1(λ)
B2j −0,4299 1,2038 0,0862λ=540

E00:Σm−F10_X,1(λ)=19,45
xF10_X,1=0,3331
yF10_X,1=0,3330



CG460−2A_1

Wellenlänge λ /nm
400 500 600 700

C00

0,0

   

1,0

   

2,0

HPE_CIEF10_X-Zapfen-Empfindlichkeit  y−max(λ)=1
m−F10_X,1(λ)=B21x

−
F10_X,1(λ)+B22y

−
F10_X,1(λ)

+B23z
−

F10_X,1(λ)
B2j −0,4299 1,2038 0,0862λ=540

C00:Σm−F10_X,1(λ)=18,92
xF10_X,1=0,3101
yF10_X,1=0,3185



CG460−2A_1

Wellenlänge λ /nm
400 500 600 700

P00

0,0

   

1,0

   

2,0

HPE_CIEF10_X-Zapfen-Empfindlichkeit  y−max(λ)=1
m−F10_X,1(λ)=B21x

−
F10_X,1(λ)+B22y

−
F10_X,1(λ)

+B23z
−

F10_X,1(λ)
B2j −0,4299 1,2038 0,0862λ=540

P00:Σm−F10_X,1(λ)=18,99
xF10_X,1=0,3616
yF10_X,1=0,3533



CG460−2A_1

Wellenlänge λ /nm
400 500 600 700

Q00

0,0

   

1,0

   

2,0

HPE_CIEF10_X-Zapfen-Empfindlichkeit  y−max(λ)=1
m−F10_X,1(λ)=B21x

−
F10_X,1(λ)+B22y

−
F10_X,1(λ)

+B23z
−

F10_X,1(λ)
B2j −0,4299 1,2038 0,0862λ=540

Q00:Σm−F10_X,1(λ)=20,04
xF10_X,1=0,3054
yF10_X,1=0,3099


